TAKE HOME EXAM 3
Select the best answer for each of the following items. Mark only one answer for each item. Answer all items. Your grade will be based on the total number of correct answers. 

1. In 1994, Starke Corp., an accrual-basis calendar year corporation, reported book income of $380,000. Included in that amount was $50,000 municipal bond interest income, $170,000 for federal income tax expense, and $2,000 interest expense on the debt incurred to carry the municipal bonds. What amount should Starke's taxable income be as reconciled on Starke's Schedule M-1 of Form 1120, U .S. Corporation Income Tax Return? 

A. $330,000 
B. $500,000
C. $502,000 
D. $550,000 

2. Lake Corp., an accrual-basis calendar year corporation, had the following 1994 receipts: 

1995 advanced rental payments where the lease ends in 1996 

$125,000 

Lease cancellation payments from a 5-year lease tenant


    50,000 

Lake had no restrictions on the use of the advanced rental payments and renders no services. What amount of income should Lake report on its 1994 tax return? 

A. $0 

B. $50,000
C. $125,000 
D. $175,000 

3. A C corporation's net capital losses are 
A. Carried forward indefinitely until fully utilized. 

B. Carried back 3 years and forward 5 years. 
C. Deductible in full from the corporation's ordinary income. 
D. Deductible from the corporation's ordinary income only to the extent of $3,000. 

4. In 1994, Best Corp., an accrual-basis calendar year C corporation, received $100,000 in dividend income from the common stock that it held in an unrelated domestic corporation. The stock was not debt-financed, and was held for over a year. Best recorded the fol1owing information for 1994: 

Loss from Best's operations 




($ 10,000) 
Dividends received


   


   100,000 
Taxable income (before dividends-received deduction) 

  $ 90,000 

Best's dividends-received deduction on its 1994 tax return was 

A. $100,000 
B. $ 80,000 
C. $ 70,000 
D. $ 63,000 

5. Data Corp., a calendar year corporation, purchased and placed into service office equipment during November .1994. No other equipment was placed into service during 1994. Under the general MACRS depreciation system, what convention must Data use? 

A. Full-year. 
B. Half-year. 

C. Mid-quarter. 
D. Mid-month.
6. Capital assets include 

A. A corporation's accounts receivable from the sale of its inventory. 

B. Seven-year MACRS property used in a corporation's trade or business. 

C. A manufacturing company's investment in U.S. Treasury bonds. 

D. A corporate real estate developer's unimproved land that is to be subdivided to build homes, which will be sold to customers. 

7. Baker Corp., a calendar year C corporation, realized taxable income of $36,000 from its regular business operations for calendar year 1994. In addition, Baker had the following capital gains and losses during 1994: 

Short-term capital gain 


$8,500 
Short-term capital loss 


(4,000) 
Long-term capital gain 


 1,500 
Long-term capital loss 


(3,500) 

Baker did not realize any other capital gains or losses since it began operations. What is Baker's total taxable income for 1994? 

A. $46,000 
B. $42,000 
C. $40,500 
D. $38,500 

8. In 1994, Cable Corp., a calendar year C corporation, contributed $80,000 to a qualified charitable organization. Cable's 1994 taxable income before the deduction for charitable contributions was $820,000 after a $40,000 dividends-received deduction. Cable also had carryover contributions of $10,000 from the prior year. In 1994, what amount can Cable deduct as charitable contributions? 

A. $90,000 
B. $86,000 
C. $82,000 
D. $80,00.0 

9. If a corporation's charitable contributions exceed the limitation for deductibility in a particular year, the excess 

A. Is not deductible in any future or prior year. 

B. May be carried back or forward for one year at the corporation's election. 

C. May be carried forward to a maximum of five succeeding years. 

D. May be carried back to the third preceding year. 

10. In 1994, Stewart Corp. properly accrued $5,000 for an income item on the basis of a reasonable estimate. In 1995, after filing its 1994 federal income tax return, Stewart determined that the exact amount was $6,000. Which of the following statements is correct? 

A. No further inclusion of income is required as the difference is less than 25% of the original amount reported and the estimate had been made in good faith. 

B. The $1,000 difference is includible in Stewart's 1995 income tax return. 

C. Stewart is required to notify the IRS within 30 days of the determination of the exact amount of the item. 

D. Stewart is required to file an amended return to report the additional $1,000 of Income. 

11. The uniform capitalization method must be used by 

I. Manufacturers of tangible personal property. 

II. Retailers of personal property with $2 million dollars in average annual gross receipts for the 3 preceding years. 

A. I only. 

B. II only. 

C. Both I and II. 
D. Neither I nor II. 

12. Kane Corp. is a calendar year domestic personal holding company. Which deduction(s) must Kane make from 1994 taxable income to determine undistributed personal holding company income prior to the dividend-paid deduction? 






Net long-term






Capital gain
Federal

less related

income taxes 
federal income taxes
A.

Yes

Yes 
B.

Yes

No

C.

No

Yes

D.

No

No

13. Bank Corp. owns 80% of Shore Corp.'s outstanding capital stock. Shore's capital stock consists of 50,000 shares of common stock issued and outstanding. Shore's 1994 net income was $140,000. During 1994, Shore declared and paid dividends of $60,000. In conformity with generally accepted accounting principles, Bank recorded the fol1owing entries in 1994: 








Debit


Credit
Investment in Shore Corp. common stock 

$112,000
Equity in earnings of subsidiary 





$112,000
Cash 






   48,000
Investment in Shore Corp. common stock 



   48,000
In its 1994 consolidated tax return, Bank should report dividend revenue of 

A. $48,000 
B. $14,400 
C. $ 9,600 
D. $0 

14. Dart Corp., a calendar year domestic C corporation, is not a personal holding company. For purposes of the accumulated earnings tax, Dart has accumulated taxable income for 1994. Which step(s) can Dart take to eliminate or reduce any 1994 accumulated earnings tax? 

I. Demonstrate that the "reasonable needs" of its business require the retention of all or part of the 1994 accumulated taxable income. 

II. Pay dividends by March 15, 1995. 

A. I only. 
B. II only. 

C. Both I and II. 

D. Neither I nor II. 

15. Eastern Corp., a calendar year corporation, was formed January 3, 1994, and on that date placed five-year property in service. The property was depreciated under the general MACRS system. Eastern did not elect to use the straight- line method. The following information pertains to Eastern: 

Eastern's 1994 taxable income 







$300,000 
Adjustment for the accelerated depreciation taken on 1994 five-year property 

      1,000 

1994 tax-exempt interest from specified private activity bonds issued after August 7, 1986     5,000 

What was Eastern's 1994 alternative minimum taxable income before the adjusted current earnings (ACE) adjustment? 

A. $306,000 
B. $305,000 
C. $304,000 
D. $301,000 

16. A civil fraud penalty can be imposed on a corporation that underpays tax by 

A. Omitting income as a result of inadequate recordkeeping. 

B. Failing to report income it erroneously considered not to be part of corporate profits. 

C. Filing an incomplete return with an appended statement, making clear that the return is incomplete. 

D. Maintaining false records and reporting fictitious transactions to minimize corporate tax liability. 

17. A corporation may reduce its regular income tax by taking a tax credit for 

A. Dividends-received exclusion.  
B. Foreign income taxes.  
C. State income taxes. 

D. Accelerated depreciation. 

18. The accumulated earnings tax can be imposed 

A. On both partnerships and corporations. 
B. On companies that make distributions in excess of accumulated earnings. 
C. On personal holding companies. 

D. Regardless of the number of stockholders in a corporation. 

19. The following information pertains to Dahl Corp.: 

Accumulated earnings and profits at January 1, 1994 


$120,000 
Earnings and profits for the year ended December 31, 1994 

  160,000 
Cash distributions to individual stockholders during 1994 

  360,000 

What is the total amount of distributions taxable as dividend income to Dahl's stockholders in 1994? 

A. $0 

B. $160,000 
C. $280,000 
D. $360,000 

20. Ridge Corp., a calendar year C corporation, made a nonliquidating cash distribution to its shareholders of $1,000,000 with respect to its stock. At that time, Ridge's current and accumulated earnings and profits totaled $750,000 and its total paid-in capital for tax purposes was $10,000,000. Ridge had no corporate shareholders. Ridge's cash distribution 

I. Was taxable as $750,000 in ordinary income to its shareholders. 

II. Reduced its shareholders' adjusted bases in Ridge stock by $250,000.


A. I only.


B. II only.


C. Both I and II.


D. Neither I nor II.

21. Ace Corp. and Bate Corp. combine in a qualifying reorganization and form Carr Corp., the only surviving corporation. This reorganization is tax-free to the 




Shareholders


Corporation


A.

Yes



Yes


B.

Yes



No


C.

No



Yes


D.

No



No
22. Bass Corp., a calendar year C corporation, made qualifying 1994 estimated tax deposits based on its actual 1993 tax liability. On March 15, 1995, Bass filed a timely automatic extension request for its 1994 corporate income tax return. Estimated tax deposits and the extension payment totaled $7,600. This amount was 95% of the total tax shown on Bass' final 1994 corporate income tax return. Bass paid 

$400 additional tax on the final 1994 corporate income tax return filed before the extended due date. For the 1994 calendar year, Bass was subject to pay 

I. Interest on the $400 tax payment made in 1995. 
II. A tax delinquency penalty. 

A. I only. 

B. II only. 

C. Both I and II. 

D. Neither I nor II. 

23. Edge Corp., a calendar year C corporation, had a net operating loss and zero tax liability for its 1994 tax year. To avoid the penalty for underpayment of estimated taxes, Edge could compute its first quarter 1995 estimated income tax payment using the 




Annualized


Preceding




Income method


year method


A.

Yes



Yes


B.

Yes



No


C.

No



Yes


D.

No



No

24. A corporation's tax year can be reopened after all statutes of limitations have expired if 

I. The tax return has a 50% nonfraudulent omission from gross income. 

II. The corporation prevails in a determination allowing a deduction in an open tax year that was taken erroneously in a closed tax year. 


A. I only


B. II only


C. Both I and II.


D. Neither I nor II.

25. A penalty for understated corporate tax liability can be imposed on a tax preparer who fails to 

A. Audit the corporate records. 

B. Examine business operations. 

C. Copy all underlying documents. 

D. Make reasonable inquiries when taxpayer information appears incorrect. 

26. Barker acquired a 50% interest in Kode Partnership by contributing $20,000 cash and a building with an adjusted basis of $26,000 and a fair market value of $42,000. The building was subject to a $10,000 mortgage which was assumed by Kode. The other partners contributed cash only. The basis of Barker's interest in Kode is 

A. $36,000 
B. $41,000 
C. $52,000 
D. $62,000 

27. At partnership inception, Black acquires a 50% interest in Decorators Partnership by contributing property with an adjusted basis of $250,000. Black recognizes a gain if 

I. The fair "market value of the contributed property exceeds its adjusted basis. 

II. The property is encumbered by a mortgage with a balance of $100,000. 

A. I only. 

B. II only. 

C. Both I and II. 

D. Neither I nor II. 

28. Evan, a 25% partner in Vista Partnership, received a $20,000 guaranteed payment in 1994 for deductible services rendered to the partnership. Guaranteed payments were not made to any other partner. Vista's 1994 partnership income consisted of: 

Net business income before guaranteed payments 



$80,000 
Net long-term capital gains 






  10,000 

What amount of income should Evan report from Vista Partnership on her 1994 tax return? 

A. $37,500 
B. $27,500 
C. $22,500 
D. $20,000 
29. On January 4, 1994, Smith and White contributed $4,000 and $6,000 in cash, respectively, and formed the Macro General Partnership. The partnership agreement allocated profits and losses 40% to Smith and 60% to White. In 1994, Macro purchased property from an unrelated seller for $10,000 cash and a $40,000 mortgage note that was the general liability of the partnership. Macro's liability 

A. Increases Smith's partnership basis by $16,000. 

B. Increases Smith's partnership basis by $20,000. 

C. Increases Smith’s partnership basis by $24,000. 

D. Has no effect on Smith's partnership basis. 

30. Hart's adjusted basis in Best Partnership was $9,000 at the time he received the following nonliquidating distributions of partnership property: 

Cash $5,000

Land, adjusted basis $7,000

Land, fair market value $10,000

What was the amount of Hart's basis in the land? 
A. $0 

B. $ 4,000 
C. $ 7,000 
D. $10,000 

31. Stone's basis in Ace Partnership was $70,000 at the time he received a nonliquidating distribution of partnership capital assets. These capital assets had an adjusted basis of $65,000 to Ace, and a fair market value of $83,000. Ace had no unrealized receivables, appreciated inventory, or properties which had been contributed by its partners. What was Stone's recognized gain or loss on the distribution? 

A. $18,000 ordinary income

B. $13,000 capital gain

C. $ 5,000 capital loss

D. $0
32. On January 3, 1994, the partners' interests in the capital, profits, and losses of Able Partnership were: 

% of capital, 

profits and losses 

Dean 



25%

Poe 



30%

Ritt 



45%
On February 4, 1994, Poe sold her entire interest to an unrelated party. Dean sold his 25% interest in Able to another unrelated party on December 20, 1994. No other transactions took place in 1994. For tax purposes, which of the following statements is correct with respect to Able? 

A. Able terminated as of February 4, 1994. 
B. Able terminated as of December 20, 1994. 

C. Able terminated as of December 31, 1994. 

D. Able did not terminate. 
33. Curry's sale of her partnership interest causes a partnership termination. The partnership's business and financial operations are continued by the other members. What is (are) the effect (s) of the termination? 

I. There is a deemed distribution of assets to the remaining partners and the purchaser.
II. There is a hypothetical recontribution of assets to a new partnership. 

A. I only. 

B. II only. 

C. Both I and II. 

D. Neither I nor II. 

34. Steve and Kay Briar, U.S. citizens, were married for the entire 1994 calendar year. In 1994, Steve gave a $30,000 cash gift to his sister. The Briar’s made no other gifts in 1994. They each signed a timely election to treat the $30,000 gift as made one-half by each spouse. Disregarding the unified credit and estate tax consequences, what amount of the: 1994 gift is taxable to the Briars? 

A. $30,000

B. $20,000

C. $10,000

D. $0 

35. The organizational test to qualify a public service charitable entity as tax exempt requires the articles of organization to 

I. Limit the purpose of the entity to the charitable purpose. 
II. State that an information return should be filed annually with the Internal Revenue Service. 

A. I only. 

B. II only. 

C. Both I and II.
D. Neither I nor II.

36. Which of the following activities regularly conducted by a tax exempt organization will result in unrelated business income? 

I. Selling articles made by handicapped persons as part of their rehabilitation, when the organization is involved exclusively in their rehabilitation. 

II. Operating a grocery store almost fully staffed by emotionally handicapped persons as part of a therapeutic program. 

A. I only. 

B. II only. 

C. Both I and II. 

D. Neither I nor II. 

37. Mien Co. is budgeting sales of 53,000 units of product Nous for October 1995. The manufacture of one unit of Nous requires 4 kilos of chemical Loire. During October 1995, Mien plans to reduce the inventory of Loire by 50,000 kilos and increase the finished goods inventory of Nous by 6,000 units. There is no Nous work- in-process inventory. How many kilos of Loire is Mien budgeting to purchase in October 1995? 

A. 138,000 
B. 162,000 
C. 186,000 
D. 238,000 

38. The basic difference between a master budget and a flexible budget is that a master budget is 

A. Only used before and during the budget period and a flexible budget is only used after the budget period. 

B. For an entire production facility and a flexible budget is applicable to single departments only. 

C. Based on one specific level of production and a flexible budget can be prepared for any production level within a relevant range. 

D. Based on a fixed standard and a flexible budget allows management latitude in meeting goals. 

39. For the next 2 years, a lease is estimated to have an operating net cash inflow of $7,500 per annum, before adjusting for $5,000 per annum tax basis lease amortization, and a 40% tax rate. The present value of an ordinary annuity of $1 per year at 10% for 2 years is $1.74. What is the lease's after-tax present value using a 10% discount factor? 

A. $ 2,610 
B. $ 4,350 
C. $ 9,570 
D. $11,310 

40. Product Cott has sales of $200,000, a contribution margin of 20%, and a margin of safety of $80,000. What is Cott's fixed cost? 

A. $16,000 
B. $24,000 
C. $80,000 
D. $96,000 

41. Break-even analysis assumes that over the relevant range 

A. Unit revenues are nonlinear. 

B. Unit variable costs are unchanged. 
C. Total costs are unchanged. 

D. Total fixed costs are nonlinear. 

42. Gram Co. develops computer programs to meet customers' special requirements. How should Gram categorize payments to employees who develop these programs? 





Direct


Value-adding





Costs


Costs


A.


Yes


Yes


B.


Yes


No


C.


No


No


D.


No


Yes

43. The Forming Department is the first of a two-stage production process. Spoilage is identified when the units have completed the Forming process. Costs of spoiled units are assigned to units completed and transferred to the second department in the period spoilage is identified. The following information concerns Forming's conversion costs in May 1995: 











Conversion








Units


Costs

Beginning work-in-process (50% complete) 

2,000


$10,000
Units started during May



8,000


  75,000

Spoilage-normal 




  500
Units completed and transferred 


7,000



Ending work-in-process (80% complete) 

2,500
Using the weighted average method, what was Forming's conversion cost transferred to the second production department? 

A. $59,850 
B. $64,125 
C. $67,500 
D. $71,250 

44. The standard direct material cost to produce a unit of Lem is 4 meters of material at $2.50 per meter. During May 1995, 4,200 meters of material costing $10,080 were purchased and used to produce 1,000 units of Lem. What was the material price variance for May 1995? 

A. $400 favorable

B. $420 favorable
C. $ 80 unfavorable

D. $480 unfavorable
45. For purposes of allocating joint costs to joint products, the sales price at point of sale, reduced by cost to complete after split-off, is assumed to be equal to the 

A. Joint costs. 
B. Total costs. 

C. Net sales value at split-off. 

D. Sales price less a normal profit margin at point of sale. 

46. The following selected data pertain to the Darwin Division of Beagle Co. for 1994: 

Sales 





$400,000 
Operating income



    40,000 
Capital turnover





4 
Imputed interest rate 



        10% 

What was Darwin's 1994 residual income? 
A. $0 
B. $ 4,000 

C. $10,000 
D. $30,000 

47. Key Co. changed from a traditional manufacturing operation with a job order costing system to a just-in-time operation with a back- flush costing system. What is (are) the expected effect(s) of these changes on Key's inspection costs and recording detail of costs tracked to jobs in process? 





Inspection

Detail of costs





Costs


Tracked to jobs


A.


Decrease

Decrease


B.


Decrease

Increase


C.


Increase

Decrease


D.


Increase

Increase

48. The economic order quantity formula assumes that 

A. Periodic demand for the good is known. 
B. Carrying costs per unit vary with quantity ordered

C. Costs of placing an order vary with quantity ordered. 

D. Purchase costs per units differ due to quantity discounts. 
49. Under frost-free conditions, Cal Cultivators expects its strawberry crop to have a $60,000 market value. An unprotected crop subject to frost has an expected market value of $40,000. If Cal protects the strawberries against frost, then the market value of the crop is still expected to be $60,000 under frost-free conditions and $90,000 if there is a frost. What must be the probability of a frost for Gal to be indifferent to spending $10,000 for frost protection? 

A. .167 
B. .200 
C. .250 
D. .333 

50. Based on potential sales of 500 units per year, a new product has estimated traceable costs of $990,000. What is the target price to obtain a 15% profit margin on sales? 

A. $2,329 
B. $2,277 
C. $1,980 
D. $1,935 

51. Lynn Manufacturing Co. prepares income statements using both standard absorption and standard variable costing methods. For 1994, unit standard costs were unchanged from 1993. In 1994, the only beginning and ending inventories were finished goods of 5,000 units. How would Lynn's ratios using absorption costing compare with those using variable costing? 







Return on



Current


Stockholders’




Ratio


Equity


A.

Same


Same


B.

Same


Smaller


C.

Greater


Same


D.

Greater


Smaller
52. Which of the following fund types of a governmental unit has (have) income determination as a measurement focus? 






General

Expendable






Funds

Trust funds


A.



Yes

Yes

B.



Yes

No


C.



No

No


D.



No

Yes

53. Fixed assets donated to a governmental unit should be recorded 

A. At the donor's carrying amount. 

B. At estimated fair value when received. 

C. At the lower of the donor's carrying amount or estimated fair value when received. 

D. As a memorandum entry only. 

54. Which event(s) is (are) supportive of inter-period equity as a financial reporting objective of a governmental unit? 

I. A balanced budget is adopted. 

II. Residual equity transfers out equals residual equity transfers in. 

A. I only.

B. II only. 

C. Both I and II. 

D. Neither I nor II. 

55. Fund accounting is used by governmental units with resources that must be 

A. Composed of cash or cash equivalents. 

B. Incorporated into combined or combining financial statements. 

C. Segregated for the purpose of carrying on specific activities or attaining certain objectives. 

D. Segregated physically according to various objectives. 

56. Vale City legally adopts a cash-basis budget. What basis should be used in Vale's combined statement of revenues, expenditures, and changes in fund balances, - budget and actual? 

A. cash

B. Modified accrual 
C. Accrual 
D. Modified cash 

57. What is the basic criterion used to determine the reporting entity for a governmental unit? 

A. Special financing arrangement. 


B. Geographic boundaries. 
C. Scope of public services.

D. Financial accountability. 

58. Which event(s) should be included in a statement of cash flows for a governmental entity? 

I. Cash inflow from issuing bonds to finance city hall construction. 

II. Cash outflow from a city utility representing payments in lieu of property taxes. 


A. I only.

B. II only.


C. Both I and II.


D. Neither I nor II.

59. Fish Road property owners in Sea County are responsible for special assessment debt that arose from a storm sewer project. If the property owners default, Sea has no obligation regarding debt service, although it does bill property owners for assessments and uses the monies it collects to pay debt holders. What fund type should Sea use to account for these collection and servicing activities? 

A. Agency. 

B. Debt service. 

C. Expendable trust funds. 
D. Capital projects. 

60. The revenues control account of a governmental unit is increased when 

A. The encumbrance account is decreased. 
B. Appropriations are recorded.
C. Property taxes are recorded. 
D. The budget is recorded. 

